
Alfalah GHP Cash Fund 
 
 
 
Risk Disclaimer: All investments in mutual funds are subject to market risks. The NAV of units 
may go up or down based on market conditions. Investors are advised in their own interest to 
carefully read the contents of the Offering Document, in particular the Risk Disclosure in clause 
2.13, Disclaimer clause 2.14 and Warnings in clause 11 before making any Investment Decision. 
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   ALFALAH GHP CASH FUND  

(Money Market Scheme) 
 
 
 
 
 

Fund Category  Risk Profile as per Circular 2 of 2020  Risk of Principal Erosion 

Money Market  Very Low  Principal at very low risk 
 
 

Management Company  
ALFALAH GHP INVESTMENT MANAGEMENT LIMITED 

 
 
 
 

 

Trustee  
CENTRAL DEPOSITORY COMPANY OF PAKISTAN LIMITED 
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